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; ..*-1. a-!‘: : "."..'_H?"_;:_.-' _-._. At "'*h""-;_: .ﬁ#,i‘:rp;_ ‘.i- #_:_‘.I;
_ ;f the following passage, each of which ha
s are g8 m:mt?muh nmhhar one of ﬁaﬁ .,.
tely. F ' '%theappmpmte word. | "ﬁ': .
| p mtheevanmgand Iamin the (1).... ﬂtthﬂmedmal“‘hml """ @i F
: ;I. the ‘ﬂ:udemaamwurhng Itis....(3).. silent,.....(4)... when some-one {5:!...“
'If- L (1) library (2) sportsroom . %
Mbrtoar - : X " ¥
?j ’ (3); ground (4) lecture room 8
.‘_'II;I‘J-'_- y 7 . .,:l
f 2. : (1) Maximum (2) So much #
(3) Lots (4) Huge :
3. (1) less (2) quite 1
(3) big (4) poor |
1
4. (1) except (2) - rare |
(3) after (4) against | :
5. (1) removes (2) holds
(3) sticks (4) turns
6 My father.....o knewhow to dance.
To fill the blank,identify the appropriate word.
(1) don't (2)  will not
(3) doesn't (4) haven't
7. A : . lwrose at six yesterday.
B : “Even I too used to rise at six every morning.
C : Iam rising at six every morning too.
: D : Irise at six every morning.
Whose response to 'A' is grammatically correct?
A e . .
e () Ds 2 B 3
(4) None of these ;:

. (3 Cs
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o) TN gﬁ;a are given by she, b HAMPAL WY S
b f"aqlﬁﬁ glfta have been given by her. | : i

10.

11.

12.

13.

(3)could not

e formr %jéthe abmra aentencem

sresaaga ii F i

gt ary
i

If you had attended my birthday party, . ... e
Identify the later part of the sentence. 2 Q

(1) you can get a cake. (2) Fuucauﬁl get a cake
(3) “you could have a cake. (4) ﬁ;ﬂ;ﬂ;‘;nuld have got a cake.

The book / whom you /lost is / in my hands.
(a) (b) (© (d)

' The sentence is divided into four'parts a, b, ¢ and d. Identify the part of the

sentence that has an error,

(1) (a) (@) (b}
(3) (o) 4) (@)
The passage is so difficult that I ................. comprehend it.

Choose the appropriate phrase to fill the blank.

(1) am not (2) cannot
(4) could not'be

He was prepared to remain a bachelor.
He.............. marry his sister's daughter.

Choose the correct option to fill in the blank.
(2) willnot

(1) would not
(4) 1snot

(3) may not

3]
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Pt 1,, ﬂ:e hpprﬂpnate word to fill in the blank.
i e .--' . ._ _ : {4} t-hEll' | , P '};» :

bunch of grapes do you want, ............. S AN

thESE or those (2) th.lﬂ or that |
(3) these ones or those ones (4) ~this.ones or that ones

.%411_ a) Iam going tocut my hair. 1 .

:1_,?\1 t |
{56 b) [ am going to have my hair cu
';:?. g Read the sentences (a) and (b). Identify the correct EEﬂtﬂnCE(?- 5
4 (1) only (a) is correct (2) only (b) 1s correc i |
(3) both (a) and (b) are correct (4) both (a) and (b) are Incorr
e
& 18. Whois knocking .. st . the door? |
¢ Identify the correct preposition to fill in the blank.
| @) (2) at
= (4) upon

h“ . (3) above

19. Ifhe had not studied well, he would have failed.

The above sentence tells that .. | | 1
(1) he did not study well (2) ne studied wel

| \
W (3) heusedto study well (4) he _WﬂﬂtEd to study we

e wurd with the incorrect spelling.
(2) repentance

(4) remind

ww.sakshieduc[ﬂi])n.com 'l : ?I
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24.

25.

26.

217.

(1) that he cannot study well.

Industryvis the secret of ...

" :.'l- ; -"",'| - I...I-__.:.._- ¥ _- : : : : : e rlj*l:,jrl:-"\"‘.‘ LF
| 1.. iff‘:.t.r_'f I'.(-a) ,unless (4) w -F.. & ;;;‘ﬁ 4 14 .@i ‘?:12'__, ;'.:_'F:“:- ....Irﬂ:}:

Heis sointelligent ...............
Ident::]:'y the later part of the sentence.

* < :
(2) to sstu{?jg T <
(4) tha‘.f;he cannot play games.
) N |

»

—-"'

#_,,_,-""
(3) that he can study well.

The word "calf'is ........... :

(1) adisease (2) | :f_a.plant

(3) an animal /(4)" aperson

% people's success.

Choose the correct form of the underlined word to fill in the blank.
(2)
(4)

1) industrial industrious

(3) industriolous industrialistic

Identify the pair of words in which underlined parts are pronounced in the same

way.
(1) food —wool
3) full —dull

() full - wool
(4) food —full

Your friend is in hﬂspitﬁll You went to visit him. What would you say?
(2) It 'sworst :

(1) I'msorry |
(3) My deep condolences to you {4) Iwishyoua BPEEC‘Y recovery i

¥
¥ L]
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31.

' : sentence can also be written without changing the meamng 88 e i

! I i
; (4} Sume monuments are more beautlful than Taj Mahal.

Identify the correctly punctuated sentence.

: @2- Naveen is an orphan bo

f "'-r"u"" '

: ; .‘- -r "Ltr"lr |-r ; iy -_.|I'r 9 . i
Maha ist B most beauhful ut' all the mnnumentﬁ in Inai& s x,, ik

! ""i.
R =

]

)~ I\ Bﬂthﬂ“ monument in India is as beautiful as Taj Mahal. < e

l.._.'

) Very few monuments in India are as beautiful as Taj Mahal. N\
) Taj Mahal is not so beautiful than any monument in In‘t;!fﬂg., '

6-'.'

f’e

(1) Raju! whois a farmer? Has two sons.
(2) Raju, whois a farmer has two sons.

(3) Raju whois a farmer has two sons.

i 3 - B -
s ey U SR |

(4) Raju! who is a farmer, has two sons.

The sentences labelled a, b, c,d'dand e are jumbled.

Identify the correct order.

a) Kamala plantedit.

b) Now,sheis enjoying the fruits.
¢) Once Vimalagave a plant as a birthday gift to Kamala.
d) Kamalaand Vimala are good friends.

e) Thenshe took care of that plant with love.

@) d),0),2),e),b) 2) b),a),d),c),e)
@3) d),b),a),c),e) 4) a),c),d),e),b)
y. His uncle and aunt ............. him.

the correct option to fill the blank. |
(2) look through J

(4) look after

W\MN.sakshieducann.com
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35.

36.

37.

38.

39.

40.

mnmlmtooblum.f .
gh O.K.! Then wh}rdon'tweggt o A
‘7{55 the co rrectnphunbonumplet:ﬁﬁ:: e
(1) it sharpeneq LGOI
(3) it shortened

He had returned to the huspltal becauge he hada .

Choose the adjective which best fits the ot of tha hnna

meaning nf tha

(1) interpid nce to complete it. -
(3) amputate (2 malign | e A
! (4) pr&ﬁl
Id N Y '
entify the word which can be used as a noun a,nd an adjective,

(1) beautiful

3 ~ (2). table
® run (8 marble
Choose the right prefix to make the word "fortune".
S (2); din i
(3) m........ (4)" mis e
My fatheris angry .. £ ... me.
Identify the correet preposition to fill in the gap.
(1) with 2) “on
(3) at ~"(4) about

Identify the compound sentence.
(1) When she gave me a book, I thanked her.
(2) He worked hard but he failed.
As I saw a snake, I ran away.
(4) Inspite of working hard, he failed.

. tonym ﬂf1étalﬂi 25
Identify the antony (o Stea

(1) Steel h
(3) Spoiled arilee

www.sakshieducation.com
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etical order.

et '_ | ds arranged in the alphab

Cc rice t-- unnnern - cunr:eal _ cancentrate
al — concept — concern — — concentrate

v

I bring a cup of coffee for you?"

B, . he 'language functmn of the sentence is .
: (2} helplng

(4) seeking permission '

- 44. The Prisoner was innocent. He was released.
The combined form of the above two sentences begins with ..

_Ll}"'ﬂging innocent, ..........- (2)._Incase ol o

(3) AsSOON S .....c.cvon: (4) Thoughhe.......... :

45. Mycarhada. _ at the middle of the main road. -
' the blank.

Choose the appmpnate phrase to fill
(1) break up (2) break off |
(3) break out (4) breakdown ' |

following passage carefully and answer the questions that follow.

hey can use wool because no creature has suffered
he sheep's hair and it protects the animal

(45—50) Read the
57 Many. geﬂple think that t
Ry to p ¢ it. "What is wool?" It is t

:-?:-::1';' agamﬂt cold. _ |
S Is it a natural product? It should have been. However in recent years, nature
- had been sidelined. Today's hybrid sheep that the wool industry uses are

| gclantlﬁca]]y bred wool machines. The modern hormone injections make them
et gan'y for more wool on their bud;.r than they need or they could carry. B
: a Mernino sheep whmh is more wrinkled becauhe tha




" JL‘#“"F ?i
< I.' CE an

-~ (2) Becaus wohllencli:thas ErEheﬁiiﬁf;lL MRS Ty m-.,? :
| (3) Because woollen clothes are natural. i S R R
LA IIVPAVEM ST (> _.:'\'.-‘.1.'_‘::'-.'_".:';';":.
(4) Because woollen clothes are made by machines. % @ i
47. Why is wool not a natural product today? 9 ‘ CJO e
(1) Because wool is produced even in hot desert. % |
/(2{@::5& wool is produced by artificial breedi eep. |
(3) Because wool is produced by wool machin‘“’eg;},
(4) Because wool is produced by great indﬂ%ﬁﬁ;fhnuses.

\ l‘.

48. What 1s meant by "wool machines"? 11'
(1) . Machines to cut wool from sheep
(2)-Machines that grow morewool on sheep
(3) Sheep which are artificially made to produce wool
@) Machines that processnatural wool

49. Why is sheep's bodymade to develop wrinkles?
(1) Because wrinkles protect the sheep from heat.
Mﬁ-éause wrinkles produce more wool on the body.
(3) Bécause wrinkles help the sheep to avoid flies.
(4) “Because wrinkles make sheep look more beautiful.

50. .W}uch of the following statements is the most suitable title to the essay’

" (2) Artificial wool

n's cruelty to ammals
(4) Synthetic wool

Sheep rearing

Turn Ov
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{ p:2isaneven prime number; g =~ p, then

Ao

i 'J""P'-'ff’ﬂ_ﬁﬂf@ﬁm; g== P ©0HDT weriururene
(1) pag=F (2)
;;T. :-..". ;@’"Pﬂﬂ“T (4)

(L= :._13;15‘ RS 3 SOUTED ccrennenseie, |
@) ~(pr-p) , ©
i_- .' 3 ~(pv-p) (4)

54. If AcB then n(AUB)=..........

-----------

(1) n(A-B) (2)
(3) n(A) (4)

Ac B @558 n(AUB)=

: .":55, If (AUB):A FRBN L. s s

g il

e
RE(1) “AcB 2)

'-.'.] g

SR .
o= =

m.,f" _‘f :
5

3

@ Be(B-4) @

(10]

'-L."".

PErA

ah

www.sakshieducation.com

_;_': E.-_: m" h. ‘

| -
':hl-_ =

g i +
=g 1T o

pa—q *—"F;

(pA~p)

~PAP

n(B-A)
n(B)

i 1
W




X

iy’ .'-- 1 i
= -r L.y '
hL dn s '-""'._“ﬁg-'-"- N L AL g N

ia, o i -I- .:_- g e =
orees !" L R T R N T
3 K # -.‘,-: I--\. "‘-j-"l'ﬁl."'l-. LT R " "
J . *-_-_ e e iy - n._u. y Tla ... 1-"-;{‘ ¥
._ F

r-l'.

#_
Lt
..--

»t’;

'ri" .

i'—' tufzernaunfx +32+h B=

BRG0S0 ol A — B= (2} aass k=

' O\ ot
: (3)"#3 : »00 i Sk e *-‘": :

¥ :",
1

58. If U = Umiversal set and A, B, C are three nonempty sets such that A = I
and'B=C°then............ - R

U= J358008, A, B, C et 238 ddstoes, A = B® %005 B= C° w0 ...
(1) A=B 2 B=
(A= C 4)A=B=C

59. If each of the zeroes ¢fa quadratic polynomial are one, which is the addi

inverse of the other; then the number of terms init1s ............

1. 505 RS AL LoD ST SoteR DEWIE) ectd 5055300 S0Py serrsssses
(1) 3 @) 2
(3) A | 4 1

60. If x®+kx®+Ix+2 and x2 -~ x -2 have two common Zeroes then l—k=

x84 hx? +1x +2 S00050 & — x—2 emmmﬁmawﬁmmrm! k”
@) 2
4 4

1) 1
(373

1)
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'iq' -. ':J '.k -.'-L

2a f‘
et NN
82 If(-xy)liesin @, then (x,—y)liesan. W?' Qr
L ) emtespQ,fen G ) e mﬂaﬁ‘ SO |
| 1 Q @ 3
3)Q N
2

2
63. y=2x+3 graph intersects y=X at ...4..-

1) (1,0),(3.9)
@) (1,1),3,9)

' ' At .oovesraes
64. The objective function F =2x+3y18 maximum

Foox+3y ESoyg a0 B0 & BN KoRe -

! 0:3) @ (.0
| R\ @ (3.9

| N tices
| ‘ = y<1,x20 and y 2 0 are given then one of the ver
gs. If2x+ysb x-y=hL%*=

A

y20 o8 a@&mwﬁmmmw
2) 2,0

. (3) (0,2) @ @0
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617. If:c‘r J_ then X = .cieeeeanes e e 0

a.,l 2 i | L %
15 ’:J; - J; m;: ;;;;;;; TR : R ,IQ‘ TR 1:= , | .
1 ° St ARG ' T e : ._'f"-_’.
@3 @ 4}"\\ | |
68. If Lo Lug— then Log x, Log y, Lﬂgﬂa‘smn ----------

S

Lng—— Lﬂg— eoad Log x, Logy Log z mﬁaé‘m e T
4

2) GP.
(1) A.P.
H.P (4) AP and H.P.
(3)" h-
-m-l _
If o!*™ =32 oM+ _956 and on+1_128 then gn-m-!
69- 2 | -m=-l _
M+ 2
ol+m —32 gm+1 —956 Wi 2 1_1928 e&0x
wy 2 8
(1) 16 it

(3 10 (13]
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74.

79.

(1) 400 PR
(3) 401 (4) 420
InanA.P. S =4n®*-3n,thent =.......
eXec¥@E S S, =4n” 23n, WO (= .o : -
(1) 370 (2) 400 | |
(3) 297 (4) 103
If 3™ and 8% terms of G.P. are 8 and 256 respectively, then the 13" term =

L ors A 6° 315 50Dak0 8 3 H0res SO 8 100 256 a3 13 3 B0 = utsee
(1) 913 (2) 31

. (3) 215 A (4) 315 28

tH
[14]
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77. In a square plot ABi . |
CD of side 6 m a man stood inside of it at !‘:poﬁt E It

AE:DE=5mthEIIBE{iﬂm5)=‘

6 n;. goen ™ e ABCD m@mﬁguma‘ﬂammEbgﬂ:ém AE=DE

| =‘5 5. waass BE (E:'AJ E.:ég) R
(1) 2 @ »
3) 13 @ 7

78. In a cyclic quadrilater al ABCD diagonals intersect at E. Then which of the

following is true?
ABCD 80 seotizens &ikcws E 55 podonsiasnd. easss 54 3e0 T80 565552
(1) AE+BE=CE+ DE (2) AExBExCE=DE

(3) AE x CE='BE X DE (4) AE x DE = CE x BE

a circle makes an angle at the center is 2x +30°, then the

79. A chord drawn 1n

angle made by :t in the minor segment of the circle1s .....oeees

3o T~ o SNV
(3) 2x+15 (@) 4x-60
' [15] Turn ngr
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8!. Area of the triangle whose vertices are (3, 2} "“5) and (7, 5) in squarg :

P

unitsis .. ‘_* I
(3, 2). (3, 5) 28aux (7, 5) m%gwﬂa@@g@ﬁbéo . QUTeE’ .....ecmeines

(1) 12 | W\ 6.

(3) 8 oS (973

83. L, L aretwo lines parallelto L on both sides at equal distances. Ifequatmna,

1, I, are x= 6, x=—4, thenthe equation of Ityev 1

b, L oo ] 3 3ER0Y SAFirtes” &) Toth $5rest Spe L, I, © Shtemes
x = —4 ecos L m csssasasannsnns

1) =5 2 x=1
&)/xwi-'—':;.ﬁ 4 z-y=5

\

84. Ifa circleis inscribed in a square of side 7 cm, then its area in sq. cms, is

5020, 4 0 T fie S8a050 & .5 %0 ect0Poreds b Dres B, 5. o8’ .
" @ 375
(4) 98




1 1
(3)/18

:
1

4) 12

il

86. Ifthe diagonal of a square ; :
quareis 16./2 2 cm, thenthe area of it in 5q. Em%\ (' . / N
e 2
L‘ﬁaﬁ@'zﬁﬁn 162 2.5, wmamazan B, 0.5, o

(BJ 64 _ (4) 32

87. Ifthevolumeand L.S A ofa cylinder are 154 em®and 88 cm?, then the radius l-:l-f

the baseinemsis....

ST RIS OChs 155 8o gruces 154 Ho0. 0., 88 D.250.0. LASHTH 407 TR0
W R
(1) 1.7o (2) 3.75_ -~

(3) 3.5 @7

88. If SinA=CosB and 0 < A, BE%thenCﬂsm+B}= ............. _

SinA=0ps\B <:8c52: 0< A, B < %,@m:’:sf)ﬂs (A+Bi =
1
1) 1 ®
(3) E 4) 0
o
[17] Turn Ovvej
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-

T S b 4 T _- T
S0, Tan® —+2Cos* =-Sin==

4 3 6 I 2
(1) 1 : A (2) K¢

e , 2 3
'..I. s ( ) ':f/ :‘) )r K\
‘:';5 | 'H{.} Tan 30° Tan 45°and Tan 60°are in ...........te |

(1) A.P. @)-/G.P.
2 (3) HP. - C\% AP.andH.P.

Tan 30°, Tan 45° 58050 Tan, B0%S cceeereessnssaes
(1) eos@e (2) Tor BE
(3) g G (4)  wo (G H0a TS B
92. Mean of first five primé DUMDEYS 18 .ovvvivnicusis
(1) 5.8 (2). 6
(3 7.2 (4). 5.6
200563 5 (G HOPGO D wuvenearens
(2) 6
(4) 5.6

B 11 5 e www.sakshieducation.com
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| 94_ Mgdj,an of first 10 whole numbers is

95.

¥ LW
} |

(1) 15
(@ 18

o Y
(1) 55 m
RS -4
502563 10 TS0 0%y TR connessnen ¢
(1) 5.5 : .
(3) 4 \
Father of computer is | e el 3
(1) Pascal (2) Charles Babbage
(3) Newton (4) Archimedes

| Kol SERETROED seserrearess
_5” ] (2) _Charles Babbage
Pasca
2 (4) Archimedes
(3) Newton

(19]
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"H‘ Which of the following is NOT a computer lan

T+ 300 TRE° Sob PR 70 DO°? : |
(1) PASCAL 2) c.Tmi_'ﬁx_:v % ?_
(3) BASIC ) .__EQ"RTRAN

98. Pictorial representation of an alg{}rithm..;isz V4 S

" _ (1) Pictogram (2 Bar diagram

(3) Histogram ~\ (4) Flowchart
P00 190 BLXTFIS0 & HPOIED, Lovsrssenres |
(8} oo (4) (oDEs

99 Tan 1°. Tan 2°.74n 3°.Tan 4°. .............. Tan 89°= .........

@ 0 (2
o 3 (4) 4 1
e 117 =07 then P (E') = |
5 " P(E)=0.75e055P(E") =......c0c. | L
ﬂ (D) 15 (2025 @
@? 1 75 4 05 2
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102,

103.

104.

To reduce friction hetﬁeeh rotating
(1) lubricants

(3) iron wheels

(4) allof =\
WoErod® grsesos’ Ko TS PO Bty ot ol these (@)
(1) Seases SRS TED ...
(3) Frood OEven (2) ﬂ'g—m
ong the tollowing which hag th |
(1) Lion Ehlgh:“ PR
(3) Adult men E;) ‘:f“lt N
ant
2 2oR TRE Snamo (35) Dy acdan ..
1) et ‘
(3] ; (2) B
Sy M
I'he method used for coatingmetal objects with a thin layer of different metals
1S ........
(1) electroplating (2) electrotyping
(3) poling (4) distillation
E5D WRTpant tve 8o e SPaREPIS SRR S5 wunee.
(1) SoS%deh (2) DoggdoR
(3) Feh (4) %0
. A synthetic fiber made up of celluloseis .............
(2) Nylon

E-1

(1) Polyester .
(3) Rayon (4) Acrylhc

o0 5 ES HAPUDOLBE w8 HER T -+-e
L

EE R

(2) 20

ﬁ s
(1) &;35 { 4) ﬁ@-‘.ﬁig

(3) Sowre

| chl-(}
www.sakshieducation.com

Turn Over



@) Oﬁ e

ﬂ? Among al] planets, the nearest planet to earthis .
(1) Mercury _ (2) Venus

LU S, (4) Jupiter

IR0, G SIRIT & (BT werrerereses

(D) g0 (2) &
(3) oo (4) HLES
108. The products obtained by the processing of coalare ..........

(1) kerosene, petrol, diesel (2)1 “kerosene, coke, coal tar
(3) coke, coal tar, coal gas (4) petrol, diesel, coal gas
QBT 8 DAoto Beid SDOD GBIES wvrrrvens
(1) 36%5, 5%, &26 (2) 36%5, S, S'Eorte
(3) 5%, S, $EmS @) 5%, &2, SEmo

109. The temperature whichis equal to 327 K in Celsius scale is ...
327 K % SarSsafG&mbiisd 20000 arsest .........

(1) 54°C (2) 600°C

/3)/273”{} 4) 573° C

110. If a train covers half the distance at a speed of 60 km/h and the nther

40 km/h, then the average speed of the train is |

2.5 e T (Sollredonss JsBotirtod Al Bio &xte 60 &, Ss. [Ko. Sa8%,
&0 40 3.20. /Ko, HEFIF (ST, eBes HoH0 B ...

() 50km/h ) 100 km/h
£3)-24km/h 4) 48km/h

22
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114.

115.

]
3 -m) i -
('L 1] mlul o mzuﬂ — m: )

- A man of mass 50 kg uses a rope which bears only 600 N to

¥ VY e
U I |. _____

{1) m.uv +mlul=maui+ m‘u ; ( .
2 2} FFL 1) i wey - A e
1Y mlu'{=-'m=u —m, 1

2 {4) H‘lll}l + m.l.ul =ml
= P b

The maximum acceleration with which he can climb saf

Qly.igtfcss:
B0 8.0, © 5,08 i .53 600 57,039 13000, 50055 1 i s
OB Eﬁé&an- JJE&UG“Qé TSNS KOS B30 e, 3 ¢ e
(1) 15 m/s? @ )
(3) 18 m/s? @) 30 m/s?

The weight of a stone of mass 50 kg which is falling freely from the top of a
building of height 100 mis ......( '

100 2. d&sNe .5 gisido 2 R0l Rey (3055 $EBe 50 3. . (S0 110 PO ...
(1) 490N (2) 980N
(3) 5000 N (4) ON

The principle invglved in the working of hydraulic jacks to lift heavy vehicles

easilyis... N5

(1) Axchimedes'principle (2) Pascal's principle

(3) Eﬂj?le‘s law (4) Bernouli's principle

g8 TR VLT RE e S3GETAoD s’ 3G Yy W
2) > ddrEe

(1) e38,RES ST B
% (4) BRYETPe

(3) PC0d DO

23] Turn O¥eR
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--,-_f .’3 3) Wavaﬂ formed on the surface of the water
(4) Waves formed on the strings

(3) 2 &880 D OGE Stemes () bre D NEEseTes
11 8. Among the following,
(1) cooling process | _
(2) surface phenomenon I ' Y ‘1

(3) phenomena of change of a liquid into vapour at boiling point
(4) depends upon the surface area, wind speed and humidity

EPANERISIN 5 50230800 (308 TH3E° HOTRB e rrrrneen
(1) 3005ve> ©idaw
(2) &S05e HRgscive
(3) DoLLIOTTS0 BE (S0 FTRHeT™ w0 Kfgioizo
(4) &80%e o0, TR, 85602 Lrrbstitocd

Incorrect option related to evaporation is ..........

++++++++++

119. The temperature atwhich water has minimum volume is

De33 B BES SIBBEFE0 YOk SFD ..vvece.
(1) 0°C 2) 4°C
3) 27°C . (4) 100° C

20. 50 grams of sugar was dissolved in 200 ml of aqueous solution. Then mass b}'
volume percentage of the solutionis.

200 :b@l buﬁ 2o @'ﬁméﬁ 50 [rone 5,6 508 YHB. & [TPHend 550 mwn? :
(1) 10 % (2) 20 % |

(3) 25% | (4) 5%
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. ' Y et R
F atherﬂ_f Modern Chemistry' s ‘ (.} Sl bt

(_1) Antoine Lavoisier = e o cat i a0 - J% Yy
() John Berzeljys - () JohnDalton

J.J.Th R
WEM?§M 10mson ik
(1) soshaforat

(3) ESBM (2)" ESUES | -ﬁif.h \-r_-k
(4) 2.5 -12{1#‘, |
: X

123. ]
3. Number of neutrons in Lo/ T e 2

...........

(1) 17

239
@) 35 | M

124. Number of molecules present in 18 grams of wateris ..........
18 e AS38° Ko eruHe -
(1) 3.011 x10% (2) 6.022 x 10%
(3) "12.044 x 1028 (4) none of these

125. The maximum number of electrons that can be accommodated in N-shell 1B,

N-55,006" Sotilio 105 JOFH00 S0Py <reermmer
(1) 2 2 8
(3) 18 (4) 32

126. Correct molecular formula of '"Ammonium Phosphate'is ............

‘Wm 5,57 oo, OGS FSAOLO worvsrn
(1) NH, PO, @ (NH),PO,

__(9 NH,(PO)), S S

- - [25]
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:~. .,__!JL,;T {f ‘LF; 1!— 1-I£
ey S ﬁwa s
] '. Kmla :u :h;r -

et e RS 3
Fegeson
. T J._'-\.

.-|.
1 ‘1
!"
£

(4) evaporation

B ST MWEMMW%WDQE‘M ...........
f;: FoBere . 2) Edesse
oD (4) gripesso

123 The
. amount of heat liberated when 0. 2 gm of water at 0°C freezes to ice at |

iiiiiiiiiiiiiiii

; .
0°C 3510 0.2 rsae S, 0°C 3 Hio Doowore BI0REHE DExSedlss &e

(l? 8 Calories (2) 16.Calories
(3) 40 Calories (4) BU- Calories

llllllllll

129. The i |
nature of the image formed when an object is placed between focus ang

center of curvature of a concave mirrorisss..........

(1) magnified and virtual image (2) magnified and real image

3 dirins ;
| (3) diminished and real Image (4) diminished and virtual image

PSS es0 SSELL I R
ofePen ...

(1) 5559 5on 268, 2007 $8Dowe (2)
(3) %P sy WinB, W& (3&Dowo

ST é::[s_:‘n:ae: WE; &5 TP Sy Rle¥al) 1.

DD ST VBB, Ja ($0Dowo
(4) S 5Ty U8, LT BEDowo

0. If the radius of curvature of a spherical mirror is 50 cm, then its focal lens

Mﬁ‘m B0 Gt HET® T30 50 0.2, waxd e

30 ok, TgoBam
(]jﬂ 100 cm (2) 50cm |

(3) 30em 1 (4 25cm

[26]
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Ty U
@) Sereo g @ wemsdues ()0 .
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133. By using double convex lens, which of the following defec@ﬁﬁ‘ onis correct-eﬂ. d? P
(1] PTESh}?Dpia (2) M}pnpia : & |
(%3

(3) Hypermetropia ' (4) Night-blindness
YD

OOostE Kesrd) TRELC 51 B4 Sie S9000MERND et

(1) Somo @) e

(@) Szma (4) ousa

134. The reason for appearance of the red color of sun during sunrise and at sunset

B
15 LR R R R R KRR L LN R

(1) refraction of light | (2) dispersion of light

(3) scattering of light  (4) reflection of light
157600, BITREHEA0 Ssoires® R B SI0EERS Ko TR0 ceaeres
(1) s7od S8R (2) o TEsrse

(3). SPodNOIsee (4) ThodSTEENe g
135. An electric circuit draws a current of 0.4 A from a 12 A bét ery.

equivalent resiStance 18 ... o5 o

&3 Ho0ie PO _
S oo B3 scE0n eoxd _

12V b 0.4 A DD ST e

el (4) 48%Q

(3) 3 &

[27)
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| b f@} m%ﬁqw @ R !
i xh r*" An elm device which converts mechanical energy mtu ale-ctﬂcal ene
._..'__.___f-._- : m ek -
e D El&ﬂtﬂﬂ cell () electric motor L
LR -
f. (8) transformer (4) electric generator

(1) a:.;sga;m (2) S arerb
(3) Errsb (4) DS 2006

138. The "Junction Law" proposed by Kirchhoff is based on

-------------

(1) conservation of mass (2) conservation of energy
(3) conservation of momentum (4) conservation of charges
8675 BOZBoDS K7D (#oES) Do BID ©Ei00D B0 v 3
(1) (650 (2) %3 Do |
(3) (ESRK s (4)  eidmo o0
139. The chemical equation which represents the 'chemical displacement reaction'

17 S, N,

EREAEEE R

(B8 BRI SE0E° T PHPoTi’ B HPO6M RIS WS
() 2NH,—— N, +3H,
(2) Fe,O0, +2Al—— Al, O, +2 Fe

(3) BﬂCLz +Na, SO, —— BaSO0, + ZNHCI

(28]
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(; b ."'. :

“(@ 02z with pop sound T
)b smell of rotten eggs’ 1t BERCENSE S

(3) turnslime water into milky white |
(4) makes burning splinter to burn brightly

&5 00, 1.5 65 ERS & w5t ediisigyiss Deoor o
(1) 35553 %008 Sototoed

@) 05 Seog s 10h geswen \
@ spodon desgmitmes (0 e
(4) Soomotoy How @mmmﬁ@ggsa“ Er il ol .f_'_{_
142. A student writes an orbital d1agrarg‘w.1}1ch shows the electron configuration nf .
carbon as follows. _:i < ‘
Cz=6 [t E 1 \
18 28* e

The rule which does not support thisis.........
(1) Pauli exclusion principle (2) Hund'srule

(3) Aufbau principle (4) allof these
Bob @tyrb O Ve TS DOTD TG STINYD 2% DD T

caz=9 [t0] In] [

e s 2P
20 4 DOLATRR TP e e
(1) 25 e Qo800 ((4) e
(3) e JoIRO i
[29]
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144. The periodiclaw that states "the physical and chemical prnpeﬁhe:?the elements )
are a periodic function of their atomic weights" is

(2) Mgndﬁléﬂv"s periodic law

(1) Newland's law of octaves ‘
(3) Moseley's periodic law (4) Modern periodiclaw
PO GO B oMeo T SR IO G0 SROITE GRN0 Se A0ER0
(1) wrgereb; ets daiioe Q)" Rotd} estid Aakioo

(3) 2P e Jokioo (4) 9D eSS AoE0 |
table of

145. The periodic property that decreases in periods of modern periodic
elements from left to rightis............. - :
(1) atomic radius (2) 1onization energy |
(3) “electron affinity (4) electronegativity
Saemee estiDl ot 53K ot HBchERS® Jtsiy ool KA BN eSS FOO
(1) SESFeTerEe (2) edIse 3
(3) Do e (4)  Bxe WDTHES
146. HNH bond anglein NH is .......... |
| NH, & HNH 60580 oo
(@) 109° 28 @ 107" 48
106 31 @ 120
A i I_- 1"']-:{,.: o= _'r_ I_f. '
... VO [30]
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.........

. Among the following ores, which is not a aulphide ore? NG, AR

(2) Cinnabar f | H :#
(3) Galena (4) Haematite BN
8ol F5eds s’ $B)E ey TIB? | %
(1) =cEDeE (2) b
3) b (4) WS

149. The functional group which has 'ol' as suffix according to TUPAC nomenclature

et
[UPAC w5t Y stse 1.5 30 S0 Ko [Shoai BITIRO -
9 R-C=0
(1) R-OH (2) l
H
4 R-C=0
(3) R-?=O (4) ﬁ
OH |
150 General molecular formula for homologous series of Alkenes 18
es® 00 ﬁmw@rwwaﬁwﬁnmw ..... .
L 2 CnH,, ..
(1) Cn Hai - i i
(3) CnHy, o | .
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